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∑
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3��
���	� �	����	� νm �����c�νm �����c,l�νm �����c,h�νm
:��−1; :��−1; :��−1; :��−1;

2ν1 + 2ν32 ← 0 /:>$�; >�#"��>?>:�"; −0.594 −45.944 0.176
"ν12 ← 0 /:>$>; >�#@%�###:�"; −0.046 −33.354 32.815
"ν12 ← 0 6:>$�; >�% >�?%>:�"; −0.089 −32.950 12.763

5ν12 ← 0 �:>$�; >>��%�"@%:>�;� −0.060 −41.741 15.737
5ν12 ← 0 �:>$>;u >>�AA� "�:>�;� −0.015 −15.812 14.131

3ν1 + 1ν12 ← 0 /:>$>; >>�"%�@#":>�;� −0.494 −14.640 45.376
3ν1 + 1ν12 ← 0 6:>$>; >> A��"%#:>�;� −0.483 −25.037 10.264
3ν1 + 1ν12 ← 0 �:>$�;l >>A?"�"�":>�;� −0.557 −41.023 37.590
3ν1 + 1ν12 ← 0 �:>$>;u >>">>� # :>�;� −0.485 −8.278 6.360

5ν52 ← 0 −6/:>$>; >>"@A��#?:>�;� −0.412 −14.720 8.056
5ν52 ← 0 −6�:>$>; >>#�#��"#:>�;� −0.152 −12.425 0.118
5ν52 ← 0 −66:>$>; >>#�#�#@#:>�;� −0.422 −0.692 11.711

1ν1 + 4ν02 ← 0 n�:>$>; >>%%�� #?:>�;� −0.616 −28.105 40.006

1ν1 + 4ν22 ← 0 t6:>$�; >��>%�%>�:>�;� −0.626 −4.466 16.307
1ν1 + 4ν22 ← 0 t�:>$>; >��%?�# %:>�;� −0.379 −51.619 10.410
2ν1 + 3ν12 ← 0 /:>$>; >�� @��A�:>�;� −0.598 −4.610 6.270
2ν1 + 3ν12 ← 0 6:>$>; >� # �"�?:>�;� −0.516 −38.255 6.516
2ν1 + 3ν12 ← 0 �:>$>; >� %>�> #:>�;� −1.095 −8.127 31.584

?ν22 ← 0 /:>$>; >�A> ��A#:>�;� −0.526 −33.205 3.457
?ν22 ← 0 t6:>$�; >�A>@�>�#:>�;� −0.711 −2.423 10.667

2ν1 + 3ν12 ← 0 �:>$>; >�"%%�@">:�"; −0.366 −17.586 23.620
2ν1 + 3ν32 ← 0 n�:>$>; >�?����� :�"; −1.214 −7.652 2.373

?ν22 ← 0 6:>$>; >�?� �>?�:>�;� −0.564 −4.151 8.981
?ν22 ← 0 t�:>$>; >�?#%�?%%:>�;� −0.608 −15.389 22.320
?ν22 ← 0 −6�:>$>; >�%%>�? ":�"; −1.023 −62.188 15.354

1ν1 + 4ν42 ← 0 t�:>$�; >�%@#�%##:>�;� −0.888 −17.265 9.684

?ν22 ← 0 t�:>$�; > �""�@@A:>�;� −0.822 −45.224 14.845
2ν1 + 3ν32 ← 0 �:>$>; > �#>�"@�:>�;� −0.751 −16.418 20.771
3ν1 + 1ν42 ← 0 t�:>$>; >   ��%%A:>�;� −1.183 −2.367 10.786

#ν12 ← 0 x/:>$>; > ? %��">:�"; −1.872 −26.362 8.333

%ν22 ← 0� n/:>$>; >"�"%�?%�:�"; −2.653 −9.699 1.588
1ν1 + 6ν22 ← 0� n6:>$>; >"> ��A%�:�"; −3.234 −7.486 3.254
1ν1 + 6ν22 ← 0� t�:>$�; >"A"��>>�:�"; −1.304 −2.038 18.466

≥ 6� x�:>$�; >"?A ��"�:�"; −1.914 −3.496 40.809
≥ 6� x6:>$>; >"#>?�%> :�"; −2.501 −24.975 5.280

≥ 6� x�:>$�; >?"�?�> @:�"; −4.982 −13.300 18.651
@ν12 ← 0� x/:>$>; >???���A�:�"; −5.089 −9.504 4.758
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1. 
νm=7144.235 cm-1

I = 82.8172
T= 84.3 K

3. 
νm=7144.235 cm-1

I = 82.72
T= 83.4 K

5.
νm=7144.235 cm-1

I = 81.8
T= 84.0K

2. 
νm=15130.480 cm-1

I = 0.0389
T= 86.6 K

4. 
νm=15643.052 cm-1

I = 0.0802
T= 84.1 K
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